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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

Wrong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.

g L e

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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1. Which of the following pairs of part of nervous 7§ W i g B 93 @ Wl Tl
system and its function is NOT correctly PRl P AR W FEI A & 87
matched? ) ) _
(1) Sympathetic Nervous System : prepares (1) srgeadl G 9F : TN B e @

the body in times of stress and emergency 3MITaHTen URRefaal #§ duR oHdr &
situations @) s e o ¢ afel, araRe o

(2) Autonomic Nervous System : regulates )
glands, internal organs and blaod pressure Ve ¥E A BT R a7 §

(3) Spinal cord : Connecting the brain and (3) A% o : ARTss U9 R < 93 @
peripheral nervous system S BT B B &

(4) Parasympathetic Nervous System @) ' e .. = .
regulates skeletal muscles and reflex IRIIPHT AFAPT T 2 DR IRl
actions Td il fvar &1 e oRar &

2. Which of the following statement/s is/are AR @ Ix # 9 § 9 S /BN B
correct about attitude? e 8 /87
(i) Attitudes are learnt from personal (i) aﬁqﬁ—lﬁr o1 T Srfra sgwai, e

experiences, information provided by others ] vd SFAR ARGET §NT WS Kl
and mass media. X B 21

(ii) Attitudes are consistent, however, this does (if) g Tad BT 2, I I8 Jawe
not necessarily mean that they are & & & ¥ w8 skl § agae
permanent; attitudes can change. B! Hdl B

(iif) Attitude is not found to have motivational (iii) SPGRT @ =a9sr ¥ 9RfE B @ foy
qualities to produce behaviour. NS o7 S8l Bl & |

(1)  Only(i)and (i) @ Only (i) and (iii) () = ()99 (i) @ Dad (i) 4 (i)
(3)  only (i) (4 Only (iii) @ @99 () @  oaa (i)

3. Which of the following is NOT among the = o ¥ T 98 o™ @ TR o TR
procedures useful for controlling extraneous B BT STANIT GBI A=) 27
source of variance in research?

(1) Randomization () TrgfRe®eE

(2) Additional dependent variable (2) sifaRea s =R

(3) Matching technique @) e qa i

(@) statistical control (4) wiferar o

4. Consider the following statements about TG ATTE IT (TTARAE) F IR H
Magnetic Resonance Imaging (MRI) and decide = Pl W fER oY w9 0 B 6 e S
which of these statements is/are correct? R .l W E/E
) ) i . (i) TmemRans. # By ot w8 9o
(i) MRI can produce image in three dimensions. ¥
(ii) MRI provides clearer images of the brain (i) TR AT, ERT U ARTS @ yRRw

than Computed Tomography (CT) scan. FRGSAGa SHTTH (GN.EL) T gRT Wi
=l @ gerr | e T 89 T
(1)  Only (i) (2)  Only (i} ) Baa (i) @  @ae (i)
(3) Both()and(ii) (4 Neither (i) nor (i) @ M@= @ T () ()
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% Campling units such 2. staves, then detrery S e TS 99 i ST SOl
from the states, then towns frc;m districts and o ¥y, R el § @ R, v forell 4 @
finhallyifl selectilng certairrll Bamljllies withinhtowl?s. B TAT AT T A W FY YRR BT =TT
Whi i t t
use:;:? sampling method the researcher has FedT 2| SEwal 3 fhe uhese RRr @

(1)  Volunteer (2)  Chain Sampling SUGHT e 27
Sampling ()  tRos gleew (@) sjwar g™
3) Multi-stage (4  Stratified @ sz @ wRa ufesH
Sampling Sampling yfes=

6. Hermann Grid is associated with - 6. w9 firs @7 dey o & 9 ey &7
(1) Concept formation (1) dycga i
(2) perceptual style (2) yeOTE Sell
(3) Optical illusion () g 9o
(8) conditioned aversion (4) argafer foofa

7. Which of the following statement/s isfare 7. Jgax U4 gl §RI 4<%1 & ARTD & FH TMT
correct about the experiments by Kluver and Pl BeM Bl S9P FIER TN IS diel U9h 9
Bucy in which they removed some part of Hafera v @ Hew A i § ¥ e /e
monkey’s brain to see its effect on behaviour? FUT el B /87
(2) The anterior frontal lobes of monkey’s (a) 39 WAIWT ¥ §e%i & ARaws & SRy @

brain were removed in these ST 9T S</T AT 47|
experiments. (B) R SR o g T <, 7t o
(b) The monkeys showed no fear responses o ey T L.
even to the snakes which terrify normal g S 3+ f PR S
monkeys. ; .. o SR
(c) Some changes in dietary patterns and (C)“."'?’ R s g HIER
sexual-behaviour were also observed. GRS E”_Qafi” < Y|
(1) Only (a) and (b) (1) Badt (a) T (b)
(2) Only (b)and (c) (2) g (b) T ()
(3) Only (b) (3) daa (b)
(4) All three (a), (b) and {c) @ (a), (b) TG (c) A=

8. Match List-1 with List-2 and indicate your &  ¥[Ei-1 T JA-2 ¥ Ghferd LRG3k < Ry

correct choice among the codes given below — g ?Q\Esf BT IIIRT e Y WEl TR BT FIA
List—1 BT ;l:rﬂ'

(a) Conformity -1

(b) Compliance E;; g adl EWﬁa))

(c) Obedience Sgutel (Prelds)

d) Social Norms (c) SSITpIRET (3ifafera)

(d)
List—2 (d) & gﬁ”%‘a;“'q‘"ﬁ

(i) Direct requests from others ] Ol

(ii) Obey direct orders () TR ERT S feredl

(i) Rules for expected behaviour E")) HHIE E&T a‘sl ﬁ‘qql il

{iv) Adherence to norms (;3)‘ Tt Ijlﬂ‘_” ]

(1) {a-iv) (bl-(i, e, (i (1) (a1-Gv), (b)), (-G, (-G

) (ah (), (o){, (-0, (A @) (al-(v), (b)), (e, (06

@) (a)-(ii), (b)-(i), {c)-(iv), (d)-{iii) 3 (a)-(ii), {b)-(i), {c)-(iv), (d)-(iii)

@ {aHwv), (BH), (eHi, (d)-0 @) (a)-Giv), ()G, (e, (-6
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9. Consider the following statements about 9 SolEgigaNBaET™ EIoh) & Ik d =
Electroencephalogram (EEG) and decide which FoAl W AR & 1§ sa8 & 394 @
of these statements is/are correct? PINT /B B TS & /87
(a) When a person is aroused or excited, the (a) 59 Pis Afdd ST A1 ST @R F
EEG consists of high-frequency, low voltage BidT &, ol $3.0. § 9= gf e e
waves. dlecol alell a9 faEdl 8 |

(b) When a person becomes more relaxed, the (b) ¥ BIE wfdd IR P Reify § &ar €,
frequency of the EEG waves tends to o1 3.3.50. T 91 SgRT &9 BT &, Siea
decrease while the voltage tends to dieed A gl Bl §1
increase.

(1) Only (a) (1) &9 (a)

{2) Only (b) (2) B9 (b)

(3) Both (a) and (b) @) (a)Td (b) T

{4) Neither (a) nor (b) 4) = 4 (a) 57 81 (b)

10. Match List-1 with List-2 and indicate your  10. -1 & gdi-2 ¥ gifem IR ik 99 Ry
correct.choice among the codes given below — ‘Tgmzﬁf BT SN HY Y HEl IR BT -
hcare s

(a) SrgaRaes (@fRaem)
(b) Cerebral Cortex (b) TERGTERT ToHE @Rt BiSa)
(c) Medulla (c) ﬁg?ﬂ
{d) Reticular Formation (d) MeHeR wiEE
List - 2 (Functions) Hr-2 ()

{i) Arousal and Attention (i) SIS & 3@
(i) Heartbeat, Breathing, Swallowing :")) Tﬁ;ﬁ W@ﬁw
N i
(Eu) Body balance and muscle coordination ) mﬂ%a;ﬁ i
(iv) Complex thought processes . ) .
(1) (a)-{i), (b)-i), (c-(v), (-0 % (ah{i, (), (<), -

) - ) (@) (aM(iii), (b)~(iv), (c)-(ii), (d)-(i)
(2) (a)-(iif), (b)-{iv), (c}-(ii), (d)-(i) Ceam e _
(3) (a)-(ii), (b)-{i), {c)-(iit), (d)-(iv) @) (a)-{ii), (b)-(1), (c)-(iii), {d)-(iv)
@ (a)-(i), (b)-iii), (c)-{iD), (d)-(iv) @ (a)-{i), (b)-(iid), (c)-(ii), {d)-~(iv)

11. When a strong conditioned stimulus is paired  11- 9% & woEy RN Séue o 0 dew
with a neutral stimulus and this strong WE D AR UG 157 WY AR T ol
conditioned stimulus plays the part of an e SEUS WM SEuS BT BRI B
unconditioned stimulus and this neutral W g8 qew SIS fadi o e &
stimulus becomes a second conditioned w0 A &Y B, 9 T8 SEER & —
stimulus, this is an example of -

(1) Spontaneous recovery (1) aq: g
(?) Higher-order conditioning (2) STRR—BIE SFae
(3) stimulus generalization (3) SEud TGO
(4) Pseudo-conditioning (4) BT I
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12. Match List~1 with List—2 and indicate your
correct choice among the codes given below —
List— 1 (Theorist)
(a) Guilford
(b) Spearman
{c) Cattell
(d) Goleman
List - 2 (Theory/Name of Concepts)
(i) G and S factor of intelligence
(ii) Structure of Intellect model
{iii) Emotional Intelligence
{iv} Fluid and Crystallized Intelligence
() (a)-(i), (b}-(iv), (c)-(i), {d)-(iil)
() (a)-(i), (b)-(it), (c}-{iv), (d)-(iii)
(3) (a)-(ii), (b)-{i), (ch-{iv), {d)-(iii)
@) (a)-(iii), (b)-(i}, (c)-(iv), (d)-(ii)
13. Which of the following is a qualitative variable?
(1} Age () Sound intensity
(3} Sex (4) Weight

14. gelect the option that represents the correct
sequence of the following steps of research -
(i) Interpret and Research report formation
{if) Define Research problem
(iii) Collect Data
(iv) Formulate Hypotheses
(v) Test Hypothesis
() (i), (i), (ii), (v), (i)

@ (iv), (i), (iii), (v), (i)
(3) (i), (iv), (i), (v}, (iii)
(4) (v), (iv), (iid), (ii), (i)

15. Which of the following methods identifies the
active areas of the brain by detecting a
radioactive form of glucose that reaches the
different areas of the brain?

(1} CT.Scan () P.ET.Scan

3} MR.L 4 EEG.

16. According to Jean Piaget, which stage of
development is characterized by the object
permanence as its developmental milestone?
(1) Pre-operational
(2) Formal Operational
(3) Concrete Operational
(4) Sensori-motor

12.

13.

14.

15.

16.

-2 (due / fagia &1 - m)
(i) ghg @& < @ 0 SRS
(ii) gf& @1 Ge=E diea
(iii) <idf® gig
(iv) O% Ud 3 gfE
() (a)-{ii), (b)-(iv), {c)-(i), (d)-(iii)
@ (a)-{i), (b)-(it), (c)-(iv), (d)-(iii)
(3 (a)ii), (b)-(i), (c)-(iv), (d)-(iii)
@) (a)-iii},. (b)-(i), (c)-(iv), (d)-{ii}
= # ¥ Pewr e w87
M =y @ eafy dar
3 fo @ g9
T fAPed BT 589 B o U & o= uef @
TE 359 BT MG BAT & —
(i) == od o RO g9
(it} T TR D UgAE
(iii) fidsl &1 Husw
{iv) IRGeT=T =TT
{v) IR&e=T BT Shig
(0 (i), (iv), (i), (v), (i)
(2) (iv), (i), (iii), (v), (i)
(3 (i), (iv), (i), (v), (iii)
(4 (v), (iv), (iii), (iD), (i)
= & & A R o o MSErri g
% Ao & R &= 4 9gad &1 g
gﬁﬂﬂﬂ aRass & by 83 7 ysEE Bl
>
(1) [N A (2 WNEA A
(3 UHIRSE. @ I
i O & IaR, e @t {59 aEwern 4§
gﬂ W 1 fIaAe Sueries & w9 A g
?
(1) qE—wfFaes
(2) sfg=iRe dfibaras
(3) 7 wisparcas
() G-Ik

02-%2
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17.

Which of the following option does NOT

indicate a correct pair of Stage and

Psychosocial tasks as per Erikson’s theory of

psychosocial development?

(1) Adolescence : Ego identity vs.
confusion

(2) Infancy : Trust vs. Mistrust

(3) Early Childhood : Intimacy vs. Isolation

(4) Middle Adulthood Generativity vs.
Stagnation

Role

17.

=1 ¥ @ o Aeed TRews & aa e
e Rigia & SFUR Saw U9 A4 I4HIG
S @ \E JH BT T gwiar 87

(1) fheiRmaen : o gga™ aH Yfier dHify
(2) Freraraeen : fAwEN 19 T

(@) RS qreuEen : gfvear 9 e
(4) Heg—qgprae :

SHFTHEAT 919 TR

18. Who among the following are associated with 18 /1 % ¥ &9 Ry &ife € <1 dyeg o
“Tip of the Tongue’ (TOT) phenomenon? Tdfer 87
(1) Atkinson and Shiffrin (1) vefe=aT g Rifea
(?) Collins and Quillan 2) piferd @ e
(3) Brown and McNeill (3) 9199 wd ol
(4) Paivio and Bower (4 afast vd S
19. Which of the following isfare morphemes in 19 ‘distasteful’ 8 § fr & ¥ #Y SiEH
the word ‘distasteful’? (g & ) B /82
(a) dis (a) dis
(b) taste (b) taste
{c) ful (c) ful
(1) Only (a} (1) B9 (a)
(2) Only (b) (2 B3 (b)
(3) Both (a) and (b) (3) (a) @ (b) TSI
(4) All three (a), (b) and (c) (4) (a), (b) TF (c) T
20. Who among the following is/are mainly known 20 7 ¥ § ¥ de W@ @EEEIR ghHe)
for conducting studies on Bystander effect and U4 STREIRRT BT §SaRT ¥ Heit g+l &
diffusion of responsibility? fordl gea: o oI §7
(1) Cialdini and (@ Solomon Asch N R (@ Hiese wr
Kallgren ST
(B DonnByrne (4 E:t:i\é and @ < s @ <t v T
21. Which of the following isa linguisticdevicethat 21 9= % Q¥ F=<1 & wNE <SUsRw 2, <) %
relates or compares a typically abstract AAR IR 0P aENer B e orddRT
concept to another unrelated concept, by I W B B W B SHEal IR 59
suggesting a similarity between them? ST AT T BT 87
(1)  schema (2 Meta—cognition (1 (2) HAer—iRTeE
(3}  Metaphor (4)  Priming @) FAemR @ usfET
22. The studies on which of the following indicates 22 7/ § 9 f59 ™R g 30009 I8 9o & &
that satiety signals from the gut or blood are T 7 YT | U G Hava Ao B g
not necessary to terminate a meal? P ford smavaw =&l 87
(1) Nutritive density (1) dvw w9 (Ryfefea stad)
(2) Sham Feeding (@) fead @ @F i)
(3 Pavlovian Conditioning of Hunger (3) q@ =T UG ITT I
(4) Appetizer Effect ) geedls TE (TUeEeR shac)
02 - Page 6 of 36
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23. According to researches, social loafing is more 23 ¥iie & SR, ARSI AT URE: S Wil
common in— i
(1)  Social tasks () Eifse & 4§
(2)  Additive tasks @ e FElF
(3)  Simple tasks () < BEH
(4) Solo tasks (49 vod BRI A
24. Which of the following theory suggeststhatthe 24 99 § & @91 Rigia I8 sanr 2 & s=
presence of other is arousing and can either il B SURIRT SOoe & @9 3 I F
increase or reduce performance, depending on §Y, fordl uRRerfy # s ar &1t widifshan @&
whether the dominant response in a given a1 e, B AMR W YT P 9gT T Hel
situation is correct or incorrect? e &7
1 R 5 R
(1) Drive Theory of Social Facilitation ) (T=a R i ?ﬂ?g SR
(2) Evaluation Apprehension theory @ @')ﬁq i Rigia (Gdequer giiees
(3) Distraction Conflict theory (3) =rger Juy figia (REwM sifraee
oy
(4) Deindividuation theory @ ﬁ?ﬁl'z?rw Rrafa ReiRRivgee =01)
25. Read each of the following two statements — 25 f=foiRag &1 ®oFl ~ f$eA (A) 3R
Assertion {A) and Reasoning (R) and indicate @ (R) d1 ufey <R < fad g0 9 &1 1=/
your answer using the code given below — Gy T 0T SR Afg —
Assertion (A) — The moon on the horizon ST (A) — B ) Rem aig s
appears to be much larger than 2 . .
the moon in the sky. DG # a
Reasoning {R) — When the moon is there in the _i AT
horizon, it has no cues for % (R)— 19 =ig Bifds W e g O 39
depth perception surrounding TRI AR TERTS THABIT o Ghal
it. T8 8§
Code - B —
(1) Both (A) and (R) are true and (R) is the (1‘3 (A) 3R (R) 2 R £ @R (R), (A) T T
correct explanation of (A) =ET 2
(2) Both (A) and (R) are true but {R) is not the @ (A) 3R (R) SFT GE & AT (R), (A) B
correct explanation of (A) T e 98
(3) (A)is true but (R) is false @) (A) TS & AT (R) T B
(4) (A)is false but {R) is true @ (A) T & AT (R) T A
02-%¢ Page 7 of 36




26. Read each of the following two statements —

Assertion (A) and Reasoning (R) and indicate
your answer using the code given below —
Assertion {A) — According to Tolman’s
experiments on latent learning,
learning can happen without
reinforcement.
Reasoning {R) — Cognitive maps are developed
during learning but remain
hidden unless there is a
reinforcement to demonstrate
the learning.
Code -
(1) Both {A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true but {R) is not the
correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

26.

g <7 ool — afeed (A) 8iiR
% (R) @Y Uik iR R 2 g¢ e &1 W
FHRd TY YT SR GG —

AP (A)— ST SIERH R <o &

WA & SFER, T &
T o I B o §
% (R)— AR & SRM GSMAe A=
9T § e 98 U9 qF Sdd
/AT ¢ 99 0P $ 99 A B
TSR & o geder A A |

e —

(1} (A) 3R (R) =T B € &R (R), (A) B S
RET &

() (A) 3R (R) TET W& € AP (R), (A) B
T ARAT FE &

(3) (A) e & Afd (R) T &

() (A) 7o & AfeT (R) TS &

27. When an individual receives salary on the fifth 27 w9 fell afda &1 7% wE &0 541 a’g &
day of every month, it is an example of which o+ e € A1 I8 &9 gede S @1
reinforcement schedule? TEET &7

(1)  Continuous  (2) Fixed Interval M <@ (@ FAREg sFe
(3 FixedRatio (4 Variable Interval @) s sgue @ IRed swRA

28. Which theory of motivation best explains the 28 JIRUROT &1 & Rigid REmai—IRT =9ER
curiosity-driven behaviour? DI S AT Bl &7
(1) Drive reduction Theory () sFoie oA Rigia
(2) Homeostasis Theory 2 gaRefty Rigia
{3) Incentive Theory (3) dicare Rigla
(4) Arousal Theory @) <o Rigia

29. Which of the following statements isfare 29 T § Q@ BT /@R ooF w8 & /¥
correct? (a) ST SUAIRT MGTIRHAT ATl AT IR
{a) People with a high need for achievement FARIQOT FRT B URIfEar 4 B gy

tend to prefer highly challenging tasks. T E
(b) Extrinsic motivation is related with seeking (b) 91ET AU FT AT I18T [REBRI Bl
external rewards and avoiding punishments. i U4 g€ & 9919 9 B
(1) Both{a)and(b) (@ Neither(a)nor(b) (1 B9 (@)3R (b)) @ =T @) (b)
@) Only(a) @  Only (b) @) $ad (a) @ oad (b)
02-¢ Page 8 of 36




30. Which of the following are NOT products 20 /= # @ a9 fiewld & g Rela @
according to Guilford’s theory of intelligence? AR SAE TRl a7
(a) Semantic (a) Riafes (nfss)
(b) Units (b) A (gpreean)
(c) Classes (c) Tt (97)
(d) Symbolic (d) Reifors (@iofs)
(e) Relations (e) Rerwrw (%isiu)
(1) Both(a)and(d) (2) Both(c)and (e) N @I @IE @ () (e) SHT
(3) Both(b)and(d) (4) Both (b)and (c) @ (b)aR () @ (b)aR (o) 2
31. Who among the following has explained the 31 /= # 4 fFun =fdaa figia 3 1@ gRdEbar
concepts of basic anxiety and basic hostility in (af® drasdh) vd e Sua ((Re SiReferd)
personality theory? P Gucgdl B RAT HIY
(1} ErichFromm (2} Karen Horney (1) R wig (2 o B
(3}  Anna Freud (4}  Alfred Adler 3 I HES (4 TS TSR
32. 1n which type of conditioning, the onset of 32- &9 USR & Igdyd & SERT SEUF @
conditioned stimulus precedes the onset of TR Wﬁlﬁ 9F ¥ TS Bl £
et sk 40 S st i 9 g v
unconditioned stimulus? Teel BT 87
(1) Delay conditioning (1) RciRa argEeH
(2) Trace conditioning (2) eraRy e
(3) Simultaneous conditioning (3) WEHIfeld e
(4) Backward conditioning (4) T ST
33. Which of the following are examples of 33 = % 4 @Y gd® JAac®d & SRR
secondary reinforcers? {4
{a) Water (a) oiet
{b) Money {b) &1
(c) Examination marks {c) TRIET WTid
{d) Sleep {d) T
(e) Praise {e) T&ETr
(1 (a)and (d) @  (b)and(d) M (a)TF (d) @ (b7 (d)
(3 (b),(c)and(d) 4 (b),(c)and (e) 3 (b)(c)w (d) @ (b),{c)Td (e)
02 - ‘Q‘ Page 9 of 26



34. Which of the following option represents the
correct sequence of the concepts as per the
stage mode] of memory by Atkinson and
Shiffrin?

(1) Sensory memory — Attention — Short term
memory — Elaborative rehearsal — Long
term memory

(2) Attention — Sensory memory — Short term
memory — Elaborative rehearsal — Long
term memory

(3) Sensory memory — Elaborative rehearsal —
Short term memory — Attention — Long
term memory

(4) Short term memory — Attention — Sensory
memory — Elaborative rehearsal — Long
term memory

35. Which type of memory. helps a typist in typing
the words?
(1) Implicit memory
(2) Declarative memory
(3) Episodic memory
(4) Flashbulb memory
36. Which of the following are the components of
working memory model given by Baddeley?
(a) Phonological loop
(b) Echoic memory loop
(c) Visuospatial sketchpad
(d) Central Executive
(1) (a)and (d) only
(2} (b} and (d) only
3} (a), (c) and (d) only
(4) (c)and (d) only
37. Who first explained the role of urban overload

hypothesis as a reason of not helping

34.

35.

36.

37.

eidpas U9 R & S & <A dfsa @

FTAR e F | Piar Reey ducal o1 |a)

P ST 87

(1) Hat FIRT — S — STeudpiias Hf —
ReREs qaie — deerias |

(2) S — I W — el TR
— wRyds yahae — @i S

@) Wodt wiu — eRygEs @i -
UGS Wi — A®E —  SEPIaD
It

@) srevsiferd Wi — aar — Hadl wid —
aRgde gae — Semrfes T

9 goR & Fid & <adp (CEiiw) ol

S HIY H AGG Bl 87

() Fifka iy

(2) EomeTs Wi

(@) =eTTNG i

(4) erordig i

=1 4 9 o9 9sd @ SR wfa Ated

% HCH B

(a) WA BRT (BHIGISTE oy)

(b) o i BT (¥Pled FA <)

(c) 3 wne Savs (AogeiRRrr
HaUS)

(d) BT TeEd (gl Taeiiagies)

() g (a) 3R (d)

@ @ (b) 3R (d)

@ BT (a), (c) AR (d)

@ B (c) 3N (d)

= 4 9 oo w29 sRMR aReesn &

T B 7SS B B D BRY D O § Y

others? Tgel \ESIEN?

(1) Darley and Latane (1) STef U§ oa™

(2) Milgram (2) ferm

(3) Carlson (3) Brer=

(4) Eisenberg and Miller (4) IMsuTEs U fAerR
02 - 4=} Page 10 of 36




38.

39.

40.

41.

Which of the following terms are not associated
with psychoanalytic psychotherapy?

(1) Dream Analysis

(2) Contingency Contract

(3) Free Association

{(4) Transference

Which of the following statement/s is/are

correct?

(a) Incidence of a disease refers to the number
of new cases that occur over a given period
of time, typically one year.

(b) Lifetime prevalence of a disease includes
both the currently ill individuals and also
those individuals who are recovered from
that disease.

(1) Only(a) ( Only(b)

3 Both(a)and(b) @ Neither (a)nor (b)
Your general assumption is that people run on
the railway platform only when they are
getting late for the train. The man is running on
the platform. Therefore, he is getting late for
the train. This is an example of -

(1) Inductive reasoning

(2) Problem solving

(3) Functional fixedness

(4) Deductive reasoning

A child who takes money from the father’s
wallet and does not get caught does not see
that action as wrong. This is an example of
which stage of moral development theory by
Kohlberg?

(1) Conventional

(2) Pre-conventional
(3) Post-conventional

(4) Non-conventional

38.

39.

40.

41.

= # 9 oM TE TiveyueTS

Tifafee o Sdfta = 87

(1) =1 fawemor

(2) RS e

@) goa W

(4) IR (SiaHBE)

7 # BT/ PN B I B /87

(a) ¥l A & s | arad feei
I A W UF 98 A 99 T @ Y
Tl B T I E ]

(b) f5<li 1 B ShgTBelT TOR (AEweEH
Wieta) 7 Taam 9 99 T ¥ TR @l
P GRI—ERI 99 T ¥ SN g Al W
miRe g |
M) @ad (a) @ Pad (b)

@) (a) @R (b) BT @ T (@)1 & (b)

NI TH SIS 98 7 5 QT <iedid W™

79 TIed © ¥ St TSl UbsH H 19ai9 8l <&l

BT 8| T& IS ©Iehiv I8 2lg <&l § | ok

Y TR uHe & forg faeld B T | 98

EHEE R

(1) INFEIS GBI

(2) T waE=

() yPES ReRar

() TS 9o

TF gea7 A9 AT & 9g¢ I U4y o € S8R

Upe 8] WM @ BRO 59 $R Bl Td el

AWl 2| 98 dieas & Aae e g

B 5T STaRT $T SAEI &7

(1) TiTTa

(2) f—FdeFa

() dre—p-dzEa

4) St —peTe
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42. Which of the following is NOT a 42 fo= ¥ @ @ JIReHw s Ry
parameter/part of the explanatory styles IS el Bl URMIeR /96T 8 87
proposed by Seligman? (1) T 9 SR
(1) stable vs. Unstable DI o hp———

(2) Global vs. Local 3 .
(3) Internal vs. External ®) S AR
(4) Individual vs. Group () =TT I RS
43. Match List-1 with List-2 and indicate your 43 gi-1 o g2 ¥ hfra SR ok <Y Ry
correct choice among the code given below — Y HE HT SYINT FH §Y WEl 9IR BT 4G
List— 1 {Concept) BIfTg —
(a) Habit -1 (Hue)
(b) Disposition (a} smea
(c) Values (b) wrgR
(d) Traits (c) IO
List — 2 (Meaning) (d) e
{i) Tendency of a person to react in a particular gjh'.z (equ)
way (i) f<h faftre afie & ufdfear o & =i
(if) Over learned modes of behaving Edl uq% )
(iii) State, persistent, specific ways of behaving (i) SHTER BT HT ST G
(4] Ideals wh tered imoortant and (il}) FIER X BT ReR, Hered v fafde a¥ier
iv) Ideals who are considered important an () @ e NN
worthwhile to achieve S &
() {a)-(ii), (b)-(i), {c)-(ii), {d)-(iv) () (@)-{if), (b)), (c)-{iii), {d)-(iv)
@) (a)-{i), (b)-(ii), (c)-Giv), (d)-(iii) 2 (a)-(i), (b)-{ii), (c)-iv), (d)-(iii)
@ {al-), (B)-£0), (c)-Gv), (d)-(i) @) (a)-ii), (b)), (c)-4iv), (-Gt
) (a)-{iii), (b)-(i), (c)-(iv), {d)-(ii) @ (a)-(iii), {b)-(i), (c)-{iv), (d)-(ii)

44 The type of personality which seem to possess 44 facicd &7 98 UHR fore! SeoRa9g ARRoT,
high motivation, lack of patience, feel short of 80 B B, I B BN BT ATHT B,
time, be in a great hurry and feel like always G R o @ 9% ¥ g9 o @
burdened with work is known as — BT IFHT FHRAT T Sl 8, FEal & —

(1)  Type-A (2 Type-B (1)  eEg—v (2 <ET-§
(3) TypeC () Type-D () eET-=Q @ <E-

45. The concept of sensation seeker Is associated ~ 45- Wqw Wi (FaaT @eN) o Wo@d GeRd
with ~ T -

(1 McMillan (2) Zeigarnik N IR @ Raffe
(3 Zuckerman (4 Paivio @ THEHT Y 4 ufer s
02-4 Page 12 of 36




46. Wwhich of the following option represents the
correct sequence of motivational cycle?
(1) Goal directed behaviour — Drive — Need —
Arousal — Achievement
(2) Need - Goal directed behaviour — Drive —
Arousal — Achievement
(3) Need — Arousal — Drive — Achievement —
Goal directed behaviour
(4) Need — Drive — Arousal — Goal directed
behaviour — Achievement
47. Which of the following options best interprets
the self actualization needs by Abraham
Maslow?
(1) To find self-fulfiiment and realize one’s
potential
(2) To find spiritual meaning beyond one’s
-immediate self
(3} To find symmetry, order and beauty
(4) To know, understand and explore
48. which of the following approach is based on
the ‘Pull theory of motivation’?

(1)  Instinct
(@) Drive
(3) Arousal

(@) Incentive
49. Who has coined the term ‘Machiavellianism’ in
Psychology?
(1) Morgan and Kosman
(2) Mayer and Salovey
(3) Christie and Geis
(4) Buss and Walters
50. According to LeDoux’s researches, to which
part of the brain emotional stimuli travel by
two routes, first a Low road (fast, subcortical)
and second a High road (slow, cortical)?
(1) Hippocampus (2) Amygdala
(@) Spinal cord (4 Pons
$1. The damage to which part of the brain causes
rats to overeat and gain weight rapidly —

(1) Lateral hypothalamus

(2) Cingulate gyrus

(3) Ventromedial hypothalamus
(4) Medullla oblongata

46.

47.

48.

49,

50.

51.

e ¥ 9 o Red sfores 9% @

TR PH DI ST 87

(1) aawfﬁe GER — TG — ATITIHT
— Sga — SUai

(2) amawrEar — deg fAfde @aER — s=mFE
— Jgad — SUART

(3) sMaTEHdr — Sgad — 3G — SUdST
- Ty Fifde a9ER

(4) AaTIEaT — IHIE — Sgo — wed
ffde =9er — Sy

=1 3§ ¥ P Recy IEEd 9rel 5] 9

TS AN FaTEHar &) Gaitie Fe) T

BT 87

(1) ro—9qfe W oRAT Gd U EHar @l
TEE

(2) v T ¥ W SR JrAAd 3] GreEr

(3) HHR/YGT, 69 Y4 graxar UK el

(4) ST, |ASET SR Gier

= A § aar SuH SRR & gd
(=) Rrgia’ W amenia 82

(1) semghr gafda)
@ oA (S1E9)

(3) <god (ERIES)
@) dcaEd (gifea)

WSl & UM B AYUR, ARaw & fba
AqRT & 3R FidRIS SEud &l I, I8l
e ([0, TEDicHa) TN SOl 9= W (&,

BifcHd) | ST &7

(1 fRaea (2 cfrser
(@) wEEd Ple @ G
AfGEs & BT AT D AU B

W BRI
el 7 IIEE I S Bl WgRT / O i
T go 9T 87
(1) <iexa TRuReEd
(@ Rivgeie MR
(3 Jogrifsaa esuem™
(@) Fgar ffeiier

02-¢
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52.

The stimulation to finding the answers to the 52
questions such as ‘what will happen if the sky

falls on us?’ are most closely related with -

(1} Self-actualization

(2} Safety and Esteem

(3) Curiosity and Exploration

(4) Belongingness need

‘I EIET TR SR R ww o 7 S
I TNl BT B Gioe B SEud 9 gaite
ey SO & —

(1) srafifg 9§

(2) ge& @ wE |

(3) forsmar vd eFayor 9§

(4) ST SMaTaHar |

53. which theory of achievement motivation 53. Sucy IfReT &1 S=wT Mg I8 AFar 2
assumes that workers are basically lazy and & T 97 ¥U 9 e &1 € qed v 9§
extrinsically motivated by money and should g ¥ AR B § ud 9= e § FdRm
be directed from above? & ST anfee?

(1) Theory—X ) Rigia — g

(2) Theory-Y @ fogid — a8

(3) Opponent process theory (3) e uftvar Rigia
(4) Path — goal theory (@) vy — oz fgia

54. Which of the following are NOT functions of 54 = # 9 P9 sgaRass & R 7&f 87
cerebellum? (a) TMINS 2T U§ wgad §91¢ @l
{a) Maintaining posture and balance of body (b) I Td BN BT HEE
{b) Regulation of attention and reasoning (c) AU fhaTmenyl &1 g
(c) Coordinations of Muscular movements (d) BT I g Faag BT ST IE-T
{d) Maintaining heart rate and blood pressure

(1) oOnly(a)and{d) (@ Only(a)and (c) (1) Baei(a) WG(d) @ daet(a)Td ()
(3) Only(b)and(c}) (4 Only (b)and (d) () Dad(b)TE (c) @ Baa(b) Td(d)

5. Which lobe of cerebrum is primarily concerned 55 yARASs & A Uifr g SAUIRAS
with processing of auditory information? IR D YAV § Wefer € _

(1)  Temporal (2) Frontal ) 3G CERe) @) w@e (Few)
. - @ ulds @) U
() Parietal @  Occipital (r=ea) (i)

56. Which of the following statements isfare  56. o & ¥ PV /S B 98 & /87

::)r;ilc::;bsewab!e traits of an organism are (&) ST & = Tjﬁ @l ;g%‘élﬁ AT
called phenotypes; the examples of FiereTed FEd €, e 99
phenotypes are body built and physical ARING AT BHICET $ ISE © |
strength. (&) St o1 Sgaie Wl & g =t §

(b) The traits which can be passed on to the off- TiaRa B9 € o o wrey
springs through genetic material are called
its genotype. IICTEY PET I & |

(1) only (a) (1) et (@)

(2) Only (b) (2) Bael ()

(3) Both (a) and (b) @) @) w9 @) 2

(4) Neither (a) nor (b) @ T @ @)

02 - ‘Q Page 14 of 36
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57.

Which hormone is associated with regulation
of sleep-wake cycle in humans?

(1) Prolactin (20 Melatonin

(3) Cortisol (4) Oxytocin

§7.

BT BEM AFGI A FE-9FM @ W6 B
frae wvar 87

(1)  wfde (2
(3) ifdaa (4)

A==
SifraeiRm

58. A patient is able to speak fluently and 58 U®H <IN URMAE S GHA & GAT UKl Bl
pronounce the word correctly but the words TEART W T FHRal & T oY we ST
that are used are completely wrong ones with # for oId €, 9 FE WM arell 9T @ e |
reference t6 what is to be communicated. This e TEl B E, Wl B PRy R B @
could be a case of - THIET 27
(1) Spatial neglect (1) |fRme e
(2) Broca’s aphasia (2) ST YHIRET
(3) Wernicke’s aphasia (3) g TERET
(4) Anterograde amnesia (4 delnie viRkEr

59. Whose learning theory is associated with four ~ §9- fhaa <iffrm Rigio @ 4y IR wN"
stage predictive system consisting of TGRS OF 9 & RN wds, Tegadl @
independent, intervening and dependent AT =R WAd BT B¢
variables?

(1)  Tolman (2 Hull M <= (2) =z«
()  Guthrie 4)  Thorndike @ TR 4 FeEe

60. Which of the following concepts are associated ~ 80- =1 & & S du™ eRY & ™ Rigia
with Guthrie’s learning theory? | et &7
(a) One trial learning @) E yIrg e
(b) Experimental neurosis (q) vErTHE FRgAea
(c) Recency principle (|) <= R
(d) Reaction Potential (|) ufafsrar sFeriaa
(1) Only (a), (c) and (d) (1) @aa @), (@) @ ®)

(2) Only (a), (b) and (d) (2 s @), (@) @ (&)
(3) Only (a) and {c) (3) o9 @) @ (€)
@ Only (a) and (b) @) daa (&) & @)

61. A person is fearful of using elevator. If we 61. % =ofdg fove & wdim @ <<ar & Ife &9
repeatedly pair the enclosed space of the TR—IR T & 98 WM B IRM B IFgfshar
elevator with a relaxed response, the fear T ARI TR DR ©, AT S D AT ARF
response may be displaced with relaxation. We P orffhr 9§ fwnfla & w9 81 N9
are using the technique called - TF1P PTSUAMT A PR EN &, T8 & —

(1) Behavioural rehearsal (1) =aeR g (Rfeasa Rewa)

(2) Counterconditioning (2) ufcerees (HTEcy DS+

(3) Pseudoconditioning () IR I (Ye—p )

(4) Avoidance training (9) gRasH ulkeer GEEEsT o)
02-4 Page 15 of 36



62. |n which type of reflex, a new born baby turns
the head and opens the mouth when touched
on the cheek?

(1)  Babinski (2)
(3 Rooting @)

63. A child while running slips on the road and then

says ‘road hurt me’. The child is showing —

Moro
Grasp

Object
Animism

(1)  Egocentrism 2
(3) Centration Y

64. Which of the following option shows the
correct sequence of the reactions of people
when faced with death, according to the stages
given by Elisabeth Kubler-Ross?

(1) Denial, Anger, Bargaining, Depression,
Acceptance

(2) Denial, Depression, Anger, Bargaining,
Acceptance

(3) Denial, Anger, Depression, Acceptance,
Bargaining

(9 Anger, Denial, Depression, Bargaining,
Acceptance

85. In which technique of compliance, a person
begins with a large request and when this is
refused, a later request for something smaller,
the one that was actually desired, is made?

(1) The foot-in-the-door technique
(2) The door-in-the-face technique
(3) The deadline technique

(4) Playing-hard-to-get technique

6. Who conducted the Minimal Group Paradigm
Experiments?

(1) Cialdini (2) Rothbaum
(3) Bosworth 4 Tajfel

67. Who had first developed Dizlectical Behaviour
Therapy (DBT)?

(1) Marsha Linehan
(2) Bateman & Fonagy
(3) silk & Feurino

(4) Robert Hare

62.

63.

64.

65.

66.

67.

& voR & ufiad 4 wF oo Rr] sE@
Ml BT G TR R ST FAMT § 9 99 Eerar
8?7

(1) <SR=Eer @ 99

@ sl @ I

6 T Gled 999 Hed W fhad & R
ST R R I8 SEar § fF wew A a9
TIc UgAIS’ | o1 Waldia &% @I & ~

(1) sEDsag @ g wd

@) FEFo @) Siqae
Tlereiee GEeR—IE FRT & ¥ IEesl &
TER 79 § 9§ BIar [Aded |l 6 o
TG T MM B89 W PP T8 Gliissar & a8
9 B STl 87

(1) BRI, Y, WiET H, IadrE, WHRar

(2) 9FHRAIL G, I, FIET B, WibrRdr
(3) ST, B, TS, WIGRI, |IET BT
(4) e, THER, JAGEIS, Gl HEI, iR

e @Y v aRfdy ¥, g fel 8 oy
A URY F T AR 99 7 IR RADR B
far o 2 99 9] § R0 v A W
g # qifed off, & o oy fRar S
87

(1) T Ge-FT-T—SR THID

@ T SR—FT-3T—9 TFID

@) T SR TFHD

(4) ET-ES—g—IC Thiih

KA g iomE g9 e fa?
(1 Ryarafe 2 JeEE
(3) et (@) G

Seffesa RERmR ARft @ did) fFam
gl oo BI?

() st fomige

(2) 987 & BN

@) Rrer @ w=RAT

(4) g TR

02-¢
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68. Which of the following option indicates the 68. = ¥ ¥ BF9r o o949 31—3—[},—;1-[ ¥
correck sgquence of the H.P.A. system in stress T O D 98 HH DI Sar 27
responses? ) TEuemE  — e W iR -
(1) Hypothalamus — Anterior Pituitary - N . . .

Adrenocorticotropic Hormone — Adrenal CRIBHCHILIS ST — TRiTel Ficad
Cortex — Corticotropin Releasing Hormone — BiféPIgtT ReAfT g — Sifcara
~ Cortisol @) TSR — FIEHRRT ReRT S
(2) Hypothalamus — Corticotropin Releasing . .
— 7 9y I - TEFa Ficed —
Hormone — Anterior Pituitary — Adrenal o o . . .
Cortex — Cortisol — Adrenocorticotropic PiicHie — Q;{lﬁliﬁiléiﬁlgliﬂm B
Hormone @) s - Uea eided -
(3) Hypothalamus — Adrenal Cortex - o SR &
Corticotropin  Releasing Hormone - QIELIRIRY T BN — s i“m”
Anterior Pituitary — Adrenocorticotropic I —~ yEAelichgNe eMF  —
Hormone — Cortisol FifStar
(4) Hypothalamus — Corticotropin Releasing . .
Hormone ~ Anterior Pituitary -— () srgThdieTd — PUCHIZINT ReART el
Adrenocorticotropic Hormone — Adrenal — ar 99y 9 - ygMofcegitg
Cortex — Cortisol BT — TSH BicRT — Bifediel

69. Read each of the following two statements - 9. [m=foiRaa a1 Bl — afiPpea (A) @R @@
Assertion (A)a:d Re:soning (Rg alnd indicate your (R) @I afey 3l 4R A &Y z@ T TN
answer using the codes given below - ey T ST AIRe—

Assertion (A) — In hiofeedback, the patients E # 9l
hecome more aware of their ARG (A) — B F, _3” i
internal responses such as FaNe FgfbaRl oY ged
heart rate, muscle tension, Tfa, Ty 9919, Yo =g anfe
b:ioc*: pres.:g;s e:]c. and are T TN F o £ el
able to modify when 5 : gt
necessary. 51 TR T
Reason (R} — In biofeedback, the patient is g HEEE_” gl
connected to monitoring TP (R)— dBIsa® 4, I DI ¢ FRE
equipment and is provided a cue UG J Sl € U9 o N 98
whE.nevel":i he-/sI;e is successfu]i at it 313@?7“ O Ve T9g F o6
making a desired response such as SRt .
lowering blcod pressure or R A X @ # IR
decreasing tension in facial I B, S Wb faar @ g1
muscle etc.
Code - RE — _
(1) Both (A)and (R) are true and (R) is the correct (1) (a) 3R (R) ST W&l € SR (R), (A) BT w&
explanation of (A) T ®
(2) Both (A) and {R) are true but (R) is not the (2 (A) s (R) ST W&l & QldA (R), (A) B
correct explanation of (A) e e @ g
3 ikl Teld
(3) (A)is true but (R) is false @) T T R) &
(4) {A)is false but (R) is true @) (A)TTera ® Afd (R)EET &
02 - Q Page 17 of 36




70. A client has a handwashing compulsion and

7.

T2.

73.

washes hands 25 times a day. During the
therapy, this client is asked to wash hands for
50 or more times a day. Which type of
therapeutic technique is being used in this
case?

(1) Person— Centered therapy

(2) Paradoxical intention

(3) Systematic desensitization

(4} Aversion therapy

Which of the following poses an obstacle to
problem solving, according to Adamson’s

experiment?

(1)  Insight (2) Algorithm

(3) Heuristics (4) Functional
fixedness

Which of the following method is most
appropriate for solving a Rubik’s cube?

(1) Algorithm

{2) Insight

(3) Availability heuristics

{4) Representativeness heuristics

If you know English language and you are
learning French language now, the learning of
English makes it difficult for you to learn
French, itis dueto-

(1) Retroactive interference

(2) Law of disuse

(3 Proactive interference

(9 Superficial rehearsal

70.

1.

72.

73.

& IR0 B BRI € D ST R § IR 98

fam 7 25 IR =Ry i 7 fafeeaw @& <RE

99 IR Bl 50 AT SARF IR BT G B Bal

W 81 39 o9 § feu uer @ Rifee

GBI & SYAFT {HAT S &1 87

() =fdm sfsa e CE@s deg o)

(2) AR e RS $e3F)

(3) PHEE ridGiew (Rcifes
ISEIEEENE))

(4) faefy fafdar (Tas= )

TS @ WM @ IgER = | 9 P

AT G H 917 S9ed=] el 27

() EE (@ geRew

() wrwiast/ ¥ UBHEHS
TIRRER Rerear

Hive TE DI 5 B @ ford P [y

T IYGH 37

(1) qeReA

@) e

(3) Sueierar WrHidst / ggRReaT

(@) ufifFRe w@aider /ggkieea

& | SIS Ay 67 SRR T B YA
RS 91 <1 B | THBT PR & —

(1) Y=l SR
(2) SFUART STaRE
(3) qEi=IEl eTawE
(@) e Ee

74. | know that if any number is multiplied to zero, 74 ¥ S § 1% afs &< e o1 =@ & o
the mulplicative product will also be zero. The a1 SITEn O UFEE I 8 BRI ] U9 T
type of memory | am using while answering FT ST Ted G99 59 gHR o | a1
such questions is - ST SR, I8 & —

(1) Sensory memary (1) Gt wgfa

(2) Semantic memory (2) sefa i

(3 Procedural memory (3) ufsharcis i

(4) Episodic memory (4) e Wi
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2

78.

R -

> 7

75.

76.

78.

Which of the following option is NOT correctly 79

matched on the basis of Holland’s Hexagonal
model types of personality and associated
professionals?

(1) Conventional : Accountant

(2) Enterprising : Scientist
(3) Social : Clinical Psychologist
(4) Realistic : Engineer
With which of the following Neo-freudian’s  76-
personality theory, the concept of fictional
finalism is associated?
{1} Adler (@  Jung
(3)  Sullivan 4  Fromm
77.

According to Social ldentity Theory, which of
the following is NOT a part of the process for

formation of person’s identity in a sociai
group?

(1}  Comparison (2) Gratification
(3} Categorisation (4) Identification

With which of the following technique is 78

Edmund Jacobson associated?
(1) Stress Inoculation Training

(2) Progressive Muscle Relaxation
(3) Systematic Desensitization

(4) Acceptance Commitment therapy

During psychoanalytic therapy, when the client 78.

has feelings of hostility, anger and resentment
towards the therapist, it is termed as -

(1) Negative Resistance

(2) Positive Confrontation

(3) Negative Transference

(4) Positive Transference

= 4 ¥ oFw 9ee delve @ weEaii™
Aied & A THRI U9 SO G J9es)
T MR TR gHkg = 87

(1) BT : G

@) Sl : st

(3) WIS : <RI ARIdETS

() georrefard :

1 # 9 59 T & wiffaa fagia
D WARI Bioqd T BT U et &7
) TR @ g

@ el @ wi

aEIfoTE 9EaE Nigia & o ER, = d 9
PIEl {Hel T FRT GRS g 9 37g=il

TEdM 991 61 UiEpar BT 9FT 81 a7
(0 ge ) gfeswo
(3  2pfiee 4 u==EE

=1 4 ¥ o9 aoile & 91 TsHs, Sieeed

et 87

(1) T SeeR figa (B9 sREeH
fem)

@ whe N RRcET @RRE wwa
LUSESNE)

@) IS STRREBROT (Rrectifees
feeidiegae )

(@) Wi SR R (cria ofiic
DLyl

TFifgTayoTee fafeenr § S daei #
afvws & ufa oz, B AR S @
AT Bl €, O 3 Bel Wl § —

(1) TPRITTE URRRT

(2) TPRS fGRE

(3) THERIAG IR

(4) IHRTS IR
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80. Read each of the following two statements —  80- f{ym=foiRaa <t weri — aiffded (A) IR @@
Assertion (A) and Reasoning (R) and indicate (R) @1 ufey iR I fa¥ g0 Fei &1 Wan
your answer using the codes given below - Y Y AT TR G-

Assertion (A) — In Person-Centered Therapy, IRHT (A) — Afda—diag Ffeer d
the therapist feels insecured S aﬁ?ﬁ‘?ﬁ TR T
and restrains from sharing
one’s thoughts and feelings. © T o AR O e
Reasoning {R) — In Person-Centered Therapy, BT T & BT B |
the therapist provides % (R)— ER-dfT Rfvem § R
unconditional positive regard
to the person receiving Fafeream wrer v ¥ wf &1 e
therapy. I APRIS T <l &)
Code - HE —
(1) Both {A) and (R) are true and (R} is the (1) (A) 3R (R) ST = £ @ik (R), (A) B TE
correct explanation of (A) I &
(2) Both (A) and (R) are true but (R) is not the @ (A) 3R (R) ST ER £ AR (R), (A) D
correct explanation of (A) ) e TE
(3) (A)is true but (R) is false (@) (A) TS 2 AT (R) T 2
(4) (A)is false but (R) is true @) (A) 7T 2 AT (R) W 2
81. Who is associated with Gestalt therapy? 8l P e Rifdrear ¥ Gafte 87
(1) Albert Eliis () geed wfee
(2  Edmund Jacobson @ veHAs SHgET
(3 Fritz Perls (@) ey yed
(4)  viktor Frankl @ faes wad

82. The form of behaviour therapy in which the 82 wEeER RifFca o1 a8 R e T ke
reinforce is removed to reduce the frequency IfHT Bl IMIRT B T F @ Todl Tlead
of a particular reponse is - 3l gl & oI 8, deakl 8 —

(1) systematic desensitization (1) g QIR
{2) Negative reinforcement (2) oS YAl
(3) Punishment (3) gvs
(4) Extinction @) faam=

02-%¢ Page 20 of 36
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83.

84.

Match List-1 with List=2 and indicate your  83-
correct choice among the codes given below —
List — 1 (Therapy)
(a) Cognitive therapy
(b) Person-Centered therapy
(c) REBT
(d) Psychoanalytic therapy
List — 2 (Propounder)
(i) Carl Rogers
{ii) Aeron Beck
{iii) Sigmund Freud
{iv) Albert Ellis
(1) (a)-(iv), (b)-(i), {c)-{ii), (d)-(iii)
() (a)-(it), (b)-(i), {c)-(iv), (d)-(iii)
(3) (a)-(i), (b)-(ii), {c)-(iv), (d)-(ii)
() (a)-(ii), (b)-(iit), (c)-{iv), {d)-(7)
Consider the following statements about the 84.
changes made in Diagnostic and Statistical
Manual-V(DSM-V) in comparison to DMS-1V (TR)
and decide which of these statement/s is/are
correct?
(i) The term intellectual disability is used
instead of the mental retardation.
(if) The subtypes of Schizophrenia have been
eliminated.
(iii) OCD and PTSD are no longer considered to
be anxiety disorder.
(1) only {i) and (ii)
(2) Only {ii) and (iii)
(3) Only {i) and (iii)
(@) All (i), (ii) and (iii)

83. A researcher wants to study the effect of age 85.

on rate of production. The researcher selects
the group of workers on the basis of their ages
in a way that he gets appropriate
representation of various age group. Here, age
is an example of which type of variable?

(1) Type—E independent variable

(2) Type-Sindependent variable

(3) Dependent variable

(4 Intervening variable

-1 g2 & Ao HiRvie &k e Ry
TQ FHEl BT SN FA §Y Hel S BT T
P —

-1 (FRifdean)

(a) HecAd Fafdsear

(b) =fa—afag Rifpr

(c) TRIEAE

(d) T Fafese

12 (afmes)
(i) Pret Ao

(i) W9 &=

(iii) RS WHrUS

(iv) Teree gferd

(M {a)-(iv), (b)-(1), {c)-(it), (d)-(iii)

@ (a)-(ii), (b)-(1), (c)-(iv), (d)-(ii)

@ (a)-(i), (b)-Gi), (c}-(iv), {d)-(iii)

@ (a)-(ii), (b)-(iii), {c)-(iv), (d)}-{i)

SHFINES Td wieReda Agae—V(DSM-V)

# DMS-IV (TR) @t gerr # 5% 13 uRadsi &

IR § 7 ol W R B U9 o9 oY b

T8 O P/ DI B R & /8P

(i) IFRIE wadr @ WM W Sifes e
g SUANT F RRm = g

(if) STESImA T (FEifafeean) @ SuMeRY B
weT fomm T B

(iii) SN vd A wEl 31 e g

R wE AT T &1

() &aa (i) 9 (i)

(2) g (i) W9 (iii)

() g (i) 79 (iii)

@) & (i), (i) W9 {iii)

Teh Sl AR P SUET B & W g drel

TAE BT IR BT el = Iukdr

FHANAT & TRI BT ISP IMY D IR W

S UPR AT G 8 (& I T4 AR Rl

B gFRT 9T 8 e § | 98, oy fhe

YPR P TR BT SATEx0T &7

(1) eEu-§ W@da =

(2) TET-TT wad =™

(3) anfda ==

(4) wEgaht W)
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86.

A researcher forms a group of children who are
1 year old and studies the group at different
time intervals till the children reach 12 years of
age. This is an example of which type of
research design?

86.

% WGl & 94 P AR 9l 9241 6 [P
TE TR & U9 o9 G998 Pl [ 99y
IR TR =8 & 12q4 B AR B BW aOP
T YT & | 98 159 uaR & o afiee
BT IIERT 87

(1)  Longitudinal () e

(@) Cross sectional (2 - JEEA
(3)  Matched group @) g 9E
(49  Randomized block @) IERee <iie

87. Which of the following indicates an advantage ~ 87- /=1 ¥ § @I RAdey S B gerem 4
of mailed questionnaire in comparision to E[F YHIEl 9 B9 91T o9 Sl a7
schedule?

(1) Low rate of return from respondents (1) STRemEEl ¥ 9o € +9 =)

{2) Free from researcher bias (2) TEwal @& vedT | qad

(3) Ambiguous or incomplete replies (3) 3RUTT T (YU STR

(4) Not suitable for illiterate population (4) e afel @& o sudwr wid

88. Who has given the term ‘Action Research’ for ~ 88- ‘fhuicie JIgEa’ g |9 Ued fHaq f&ar?
the first time?

(1)  F.J.McGuigan (2) Kurt Lewin () wedegyE (2) @ dffqa
(3  F.N.Kerlinger (4 Jerome Bruner (@) TwTEwER @) SRE TR

89. Some doctors are asked to share and interpret ~ 89-  FB fRfFas! o 5w 5o IR & e @@
their own experiences while diagnosing and SUAR AR IUN IFWal P Gl & G4
treating a rare disease. The shared descriptions T AR TR © o HEl ST B W
of all the doctors are further collectively fafecasl g7 w=m B T aE B s
interpreted by the researcher. Such type of T GNT T WA AT Y e © [ W
research which is based on people’s lived B g5 Tl S 1% i g by e Sl
experience and stories is called — 3R FEilrEl R SMEIRG Eiel 8, FEekl & —
(1) Thematic Analysis (1) Rrafesd wfeRm ([Rwama fgew)

(2) Narrative Analysis (2) Rfeq Wi (@ Rzeyw)
(3) Ethnography 3) TRl (FEuias)
(4) Document Analysis @) SiagHc gl (TwIdS] fagerm)

90. The type of observation in which the observer ~ 90- &9 FT 98 YR O HEOTHdT S G8 BT
becomes a member of the group which is being Ao 99 offal § forad! Jeor far <1 <& 8,
observed is called - PEAT & —

(1) Controlled observation (1) fraf=a deor

() Mechanical observation (2) i Yoy

(3) Participant observation (3) TEIRIT Deger

(4) Non-participant observation (4) argEwrly Jeror
02-4 Page 22 of 36
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91. Which of the following statement is correct in

relation to the aptitude test?

(1) It refers to the previous learning.

(2) 1t refers to the potential for learning or
acquiring a specific skill.

(3) It refers to a person’s general potential to
solve problems.

@ 1t is related to the overt and covert
dispositions of the individual.

92. Which of the following psychological test is
associated with the measurement of human
ability?

(A) Achievement test

(B) Aptitude test

(C) Intelligence test

(D) Personality test

Choose the correct answer from the options

given below —
(1) ABandDonly (2
(3) A,BandConly (4)

93. Which of the following test is used to evaluate
individual differences or variations among
individuals?

(1) Intelligence test
(2) Psychological test
(3) Structured personality test
4) Projective personality test
94. Match list-l with List-ll —
List—1
Types of test

(A) Achievement
(B) Aptitude
{C) Intelligence
{D) Personality

List=11

Types of assessment

{1} Measures potential for acquiring a skill
{11) Measures potential to solve problems
(1) Measures typical behaviour
(IV) Measures previous learning
Choaose the correct answer from the options
given below -
(1} A-(n), B-(1v), C-(1), D-{111)
(2 A-(n), 8-{1), C-(1v), D-(11)
(3) A-(1v), B-(1), C-(1), D-{1N)
@ A-(Iv), B-(1), (1), D-(11)

B,.C and D only
A, Cand D only

1.

92.

93.

o4,

TEICgs o & e ¥ frsiforRaa § § s

PO TE! 87

(1) 3g o e o1 delia $var 21

(2 @' @ IR sma SN I e
D &TATT B GEHT BT B |

() ¥ &0 =i & TowRmRl & 8d &
F Y EFTCT BT el eear 8

(@g@'mﬁﬁ%gﬁaﬁvwwﬁﬁﬁﬂﬁ
I

Fr=fafas ¥ 9 oqwr Faee W gEg

HEAT © A9 9 99T 87

(A) SUCTT ey

(B) IFIAAT TETT

(C) Eferoiar wieror

(D) AfdaT e

I Ry T Res § ¥ w8 s g -

(1) &9 A, BIRD (2 oo 8,c3RD

(3) DacT A, B3IRC @ ad A CSRD

AR » 49 i sfaw ar Rl &
e B & fog Fafofeg § 9 feg
TR BT SUANT T T 87

(1) gfg e

(2) FFIA=E TR

(3) v wfeeT g

(4) vad afede e

- B GA—Il F FRT GAfera B —
& — |

TNIE0T BT HBR
(A) STaf=T
(B) I
(C) Sclereiw
(D} =fdrT

ar —

AHeT BT THR

() vF ARt diwd g o= @ &= ar &r
AT B

(1) FEIRT BT & PR DT &HAT BT AT & |
(11F) TR EER BT HYAT &
(Iv) et A <! amer &1
T ey ¢ Reet 4 @ @8 Sw ghe —
) A-(), B-(1v), C={1), D-(1)
(2) A-(11), B-{1), C-{Iv), D-{11}
(3) A-{1v), B-(1), C-(11), D-(111)
(@) A-(Iv), B-(1), C-(111), D-(11)
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95. Which of the following scale shows equal 95- f=foiReg § & = M1 ¥99 iR
intervals? faramar 87
(A) Nominal (A) A
(B) Ordinal (B) I
(C) Interval (C) 3feRTed
(D) Ratio (D) srgurd
Choose the correct answer from the options 9 &y v Rew § ¥ 98 SR gy —
given below —
(1) AandB (2 BandD () AdiwB (2 BaiRD
(B) BandC (4 cCcandD (3 Balxc @ ca3kD
96. Which of the following issue has no ethical 96 FAEIAE Ydewr & <k Fr=ifafag § 9
concern during psychological testing? 9 18 &1 38 T WeR = 87
(1) Professional issue (2) Moralissue () aaRE el (2 +=fiw el
() Social issue (4) Personalissue
() wHIS e (4) faare g
97. The personality tests, which measure whether 97 afdaea wREwr <1 98 #Amd € & =
the child suffers from a psychological disorder FHdene f[AeR ¥ difsa € o =8, § —
are — (A) FrTeT At ie afdoe = — fae
(A) Minnesota multiphasic personality HEhY]
inventory adolescent edition (B) e fpeiR weie I
{B) Millon adolescent clinical inventory (C) T=a & fog dger geferoia whd
(C) Wechsler intelligence scale for children (D) R Epeciic IR
(D) Rorschach inkblot test
Choose the correct answer from the options i Ry 17 Red § 4 ¥ S ghw —
given below —
() AandB (® AandC (1  AsiRB @ AslRC
(3 BandD ® candD (3 BaRD @ csiRD
98. Which of the following statement is wrong 98 o/ # & @ W1 ®oF wige diaw gl
about layered voice analysis? % R A Tod 27
(1) Real time analysis (1) TrIfds §99 fagermo
(2) Conversations are not recorded (2) ST g5l F8] B) Sl &
(3) Entire vocal spectrum is analysed (3) 9ot Fwx Tagd 1 fRAgemor f&ar s 8
(4) Speech is the input (4) 99T S9IE 3
99. |n which year, the committee on ethical 99 BRREG FHETHG & fav Afve i
guidelines for forensic psychologists was TR Afafd @1 o o o & fear rar er?
constituted?
(1) 1991 (2) 1993 (1) 1991 (2) 1993
(3 1995 (4) 1996 (3 1995 (4) 1996
02-¢ Page 24 of 36
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100. which of the following is not the part of the

101.

102.

103.

104.

105,

Halstead — Reitan Neuropsychological Test
Battery?

{1) Category test

(2) Tactual performance test

(3} Finger tapping test

(4) Visual performance test

Who is considered as the Father of Forensic
Psychology?

(1) LR.C Haward (2} Mckeen Cattell
(3}  Alfred Binet (4) Hugo
Munsterberg

Which of the following have no contact with

the corpses?

(1) Forensic Psychologist

(2) Forensic Pathologists

(3) Forensic Scientists

(4} Forensic Anthropologists

ABPP stands for -

(1) American Board of Physical Psychology

(2) American Board of Professional
Psychology

(3) American Bureau of Psychology
Professional

(4) American Bureau of Professional
Psychology

The major role of a Psychologists working in

clinical setting is —

(A) To help the client

(B) To benefit the patient

(C) To make Psychiatric diagnosis for treatment

(D) To help the court

Choose the correct answer from the options

given below—
(1) A BandD (2» B,CandD
3) A,BandC 4 A CandD

The book “On The Witness Stand (1908)” was
written by -

(1) wilhelm Wundt

(2) David Bazelon

(3) John H. Wigmore

(4) Hugo Munsterberg

100.

101.

102.

103.

104.

105.

Frefefag & & o9 s — e
_RAESIGThe o 8 B vy w8l 87

(1) Sl e

(2) wFiRe S IRET

() = 2T e

(4) <= yaEFT qRiETor

BRE AT & W5e 69 JFT oI 87

(1) vaesmHn (2 AfFs da
Bas
@ wbs RN (@) T geewad

Wwwwamww
?

(1) SRR T=asS

(2) BRRIF RS

(3) BrRP I=E

(%) BRRF ARSI

THIAIY. &1 9o & —

(1) s@RET S 3w BRIFH Gishldi

(@) FR® 9IS Siiv WbeEE AEHeol
() FRe =R 3iiF TSl N
4 =Re =X 3lfe WIS ARdieiol

JeIf® oY § o TR T TEEEING! By
ST R §?

(A UTE® Y FGE T D oY

(B) 3T B @ UETN B forg

(C) Soe & o0 #FIRIT &7 el &9 & forw
(D) AT P Heq B B forw

H2 g v et § ¥ 98 SR ghY -

(1 A B3RD (2 B,C3RD

(3 A, B3RC (4) A caiRD
TP “di & faew e (1908)” fFus grr
foredt 718 ofi?

(1) fis ge

@) fs I

@) & v R

(4) T Heexa
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106.

107.

108.

108.

110.

111.

In which of the following vear, Forensic
Psychology was approved as an area of

specialization within the Psychology?
(1) 1995 (2 1995
(3) 2000 (4 2001

A Psychologist, who works on the assessment
of potentially violent behaviours is known as —

(1) Mediator Psychologist
(?) Correctional Psychologist
(3) Clinical Psychologist

(4) Counselling Psychologist

Which of the chapter of Mental Health Act,
1987 deals with the protection of human rights
of mentally ill persons?

(1} Chapter-6 2
(3) Chapter-8 @

Chapter - 7
Chapter -9

Which of the following online crime category
deals with the threatening communications?
(A) Cyber bullying
(B) Cyber stalking
(C) Cyber vandalism
(D) Extortion
Choose the correct answer from the options
given below ~

() A,CandD (20 B,CandD

(3) A,BandC (4 A BandD

Which of the following criminal activity
involves the unauthorized access,
dissemination, manipulation and destruction
of electronically stored data?

(1) Computer crime

(2) Computer related crime

(3) cyber crime

(4) Digital crime

Which of the following crime is associated with
the child pornography?

(1) Interference with lawful use of computers
{2) Conspiracy

(3) Dissemination of contraband materials

(4 Ancillary crimes

106.

107.

108.

109.

110.

111.

ffaiaa 3 § 59 99 § R =l
o ¥ & &9 & w9 # FHEE @ daia

ol & TE of?
(1) 1995 (2) 1999
(3 2000 (4 2001

UG FHagae Sl G9iidd ff9e =aERi &
b TR FH YAl &, SN HaD ®9 A Wl
W 87

(1) ] FREFD

(2) QRIS FAASIS

(3) Jei® TS

(4) Rl Tase

RS WReT qRfFEE, 1987 T PNl

AN AFNE WY 9 dAR Affad @

AFAINGRI & HRI0 ¥ Gk 87

(1) 3=a9-6 (2) 3EI"-7
(3) arg-8 (4 3I=F-9
fFrafaRag § @ =19 O iFasT SRr Joh
M 91 Hew 9§ Heftd 87

(A) AER gl

(B) TTSER (BT

(O K3 IECRECERG]|

(D) TeETEE

ey fay g e 4 4 wd xR ghy —
(1) A, c3RD (@ B,caWD
(3 A B3RC (4 A B3IRD

= A 9§ PR iR iR seeiFe
w1 ¥ Gufldq S¢T 9 SFEiNea Ugd, YN,
BT 7 A @ wY F WM o 87

(1) HFYER JURTET

(2) Hres | HEta TN

(3) TSR WA

() {SfSeet suRy

fF=faRen § | B 91 RN Aiges G
I e 27

(1) TR & I ST ¥ TWEY

(2} =forr

(3) UiEfRT Al &7 TR

(4) TREE SRR
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112. |n which of the following P300 waves are

M2 f=fafea § I o P300 o Soq=T @)

generated? &7
(1) Magnetic Resonance Imaging () d=ifes W= SIRAT
(2) Brain Mapping (2 s+ At
(3) Positron Emission Tomography (3) uifsie™ iR SHETe!
(4) Electrocardiograph (%) STSIEISAUTE
113. Which of the following drug is commonly used  113. fr=faiRag § & &=l a1 amaR ) AT
for the Narco analysis? Azeivor & forw v &Y st 27
(A) Sodium pentothal (A) TS Ukra
{B) Amphetamine (8) TRBEH
(C) Scopolamine hydrobromide o) Y
(D) Sodium secnol (€
Choose the correct answer from the options (D)m LRI .
given below — A ey v fRwed § @ wd S ghy —
(1) A CandD 2 B,CandD (1) A cCsiRD ) B,calRD
3) ABandC 4 ABandD @ AB3RC @ A BSND
114. Which of the following coloured line 114 f=ifaifag § ¥ o & <71 @7 Y& G99,
combination, if closely related to each other, e TR ¥ Fwear ¥ W9 € o @i
represents the subject is not guilty in brain TRass R Rvews & <) 98 9@ wiar
fingerprint analysis? a9
1 2 R G .
) RedandBlue (8 Fer and Sreen () o ale A @) w R w
ueand Green (4  Yellow @ HeeRE (@ O R e
115. An investigation procedure of reconstructinga 115 7 & wgal 5l affy & = Rufy @
person'’s state of mind prior to death is known AT @7 S Uik @ few w9 § S
as- T &7
(1) Autopsy (1) affersd
(2) Virtopsy () T
(3) Forensic Autopsy () PRRY® sifer=dr
{4) psychological Autopsy (4) TigeE Sies)
116. pEACE model of investigative interview was  116. ZaReifeT wemer & O dica &) eRE
developed in— o =y or —
(1) 1989 (2 1992 (1 1989 @ 1992%
(3) 1998 (4 2002 (® 1998% @ 2002
117. Which of the following is not a characteristic 17. f=feifeg § 9 99 Gfed IR d 9
of organized crime scene? fadyar =g 87
(1) Controlled conversation with victim (1) 9ifkT & <rr R sk
(2) Demands submissive victims (2 fo=m Gifat @t =i
(3) sudden violence to the victim (3) fiisa & T s f&ar B
(4) Transporting the victim from one place to (4 GisT o1 1o N 9 R WIE o
another
118. Who identified the global capacity of individual 118 &= =gfe @l el emar @1 gfg @ar
as intelligence?
(1)  Wechsler () @Galton (1) dwr @) Treed
() Gagne (4) Freeman @ A= @  wrEE
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119.

Which of the following strategy of

19, frafaieg § & qpas @ U o BN

interrogation focuses on the conditions g9 B foly SR WEIT BRIR 87
created to facilitate the interrogation process? NEIREELR
(A) Loss of control (B) AHINIG A
(B) Social isolation (C) 3rRTEr &Y FRerar
{C) Certainty of guilt (D) TS TR
(D) Exculpatory scenarios
Choose the correct answer from the options Fretferiae fswedl 4 @ w8 S T -
given below —
() AandB (2 BandD (1 AsB (@ BsRD
(3 BandcC (4 CandD (3 B=3iRC ( c3RD
120. Which of the following rule of criminal 120 f=ifeiREe 3 & aTwIfiE RN B G
responsibility states that, “an accused is not oo g% samar & 9, “ve Rl uEie wg
criminally responsible if his unlawful act was ¥ R =8 g 3fk suer e e
the product of mental disease or mental AT S9N 97 AFRe QY $HT WG
defect”? o7?
(1) M'Naghten Rule (1) fHwsies &1 faq
(2) Durham Rule (2) &8 o1 e
(3) Curren’s Rule (3) ¥ @1 FrEm
(4) American Law Institute Test 4 ARFT df RITIE o
121. |n which of the step of Reid technique, the 121. 95 TFia & fba =R ¥, YBar@Hd SR
interrogator offers the suspect some possible & fo Wiy @ 9wifad 8™ 9% &Rar 87
excuses for the crime?
(1) =RoT-2 (2 =ROT -3
(@) Step-5 (4) Step-7
122. \Which of the following disorder is associated 122 fymfoRaa # 9 @ivwr RAeR o=l a1 @@y
with the mimicking of words or phrase that has ST AT AT T, SHO! Ahd He ° Gk
been heard? &2
(1) Verbigeration (2) Perseveration (1 e (2 gRifR=™
(3  Echolalia 4} Metonymy @) THRE @ JEEN
123. Sexual pleasure obtained by watching or 123 srwefie wdll a1 |Ifeey &1 <@« AT Hefid
referring pornographic material or literature is B W AN g9 " B BT FIT FEI SRl
known as - g7
(1) Nymphomania (1) Fremiar
(2) Pornographomania (2) dWTTeAE
(3) Erotographomania (3) WiERmE™Mar
(4) Coprolalia (4) Bdetferar
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124,

125.

126.

Match list-l with list-ll —
List—1
Disorders
(A) Obsession
(B) Hallucination
(C) Nlusion
(D) Delusion
List-11
Symptoms
(1) False perception without any external object
(Il)Constant thought entertained by the patient
(111) False belief in something that is not a fact
{IV) False interpretation of an external stimulus
Choose the correct answer from the options
given below -
(1) A-(11), B-(Iv), C-(I), D-(1))
(2) A-(1n), B-(1), C-(1v), D-(11)
(3 A-(1), B-(ln), c-(11), D-(1v)
@ A-(n), B-(1), c-(1v), D-{1)

Which of the following condition represents

fear from strangers?
(1
3

@
(4)

Aerophobia Xenophobia

Algophobia Claustrophobia

An irresistible desire to steal objects of small
value is known as -

(1) Kleptomania

(2) Pyromania

(3 Mutilomania

(4) Dipsomania
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127.

128.

129.

130.

131.

Match list-l with list-1l —

List—1

Term
(A) Asylum
(B) Cognition
(C) Lunatic
(D) Criminal lunatic

List—1I

Meaning
(1) Mentally ill prisoner
(1t} Psychiatric hospital
(1) Higher mental functions
(IV) Mentally ill person
Choose the correct answer from the options
given below -
(1) A-(11), B-(iv), C-{1}, D-(11}
(2 A-(u), B-(1n), C-(1v), D-(1)
(3) A-{1), B-(1), C-(11), D-{IV)
(4 A-(n), B-(1), C-(1v}), D-(u1)
Which of the following category of
hallucination feels good and bad taste in
mouth?
(1) Olfactory hallucination
(2) Tactile hallucination
{3) Gustatory haliucination
(4) Auditory hallucination
A complete cessation of symptoms of insanity
during the mental illness is known as —

(1)  Lucid interval (2) Fugue
(3) Disorientation (4  Stupor

Serial killer who believes that they hear voice
from god instructing them to kill certain types
of people is known as -

(1) visionary types

(2) Mission-oriented types

(3) Hedonistic types

(4) Power-oriented types

Which section of IEA states that a mentally ill
person is not competent to give evidence?

(1) Section 33 IEA
(2) Section 60 IEA
(3) Section 118 IEA
(4) Section 138 IEA
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132. Which of the. following is not the part of

133.

134.

135.

136.

investigative psychology?

(1) Investigative informaticn, its retrieval and
evaluation

(2) Police action and decisions

(3) It focuses on generic decision making

(@) Prediction of criminal activity

Which of the following assessment test is used

for legal insanity?

(1) Rogers criminal responsibility assessment
scale

(2) Hopkins competence assessment test

(3) Multidimensional functional assessment
questionnaire

(4) Fitness interview test revised

Which of the following competency test is used

to assess both legal knowledge and

psychopathology?

(1) The Fitness Interview Test-Revised (FIR-R)

(2) The Evaluation of Competency to Stand
Trial Instrument-Revised (ECST-R)

(3 The Computer-Assisted Determination Of
Competency to Proceed (CADCOMP)

(4) Competence Assessment for Standing Trial
for Defendants with Mental Retardation
{CAST-MR)

In which of the following violence model, the

-‘woman and man beat each other and both

beat the child?

(1) Single perpetrator model

(2) Sequential perpetrator model

(3) Dual perpetrator model

(4) Marital violence model

Which of the following magistrate court can
pass imprisonment for up to 7 years?

(A) Chief Judicial Magistrate

(B) Chief Metropolitan Magistrate

(C) First Class Magistrate

(D) Second Class Magistrate

Choose the correct answer from the options

given below —
(1) AandB (@ AandD
(3 BandC 4 cCandD
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137.

138.

139.

140.

141.

In which of the following sequence, the
evidence is recorded in court procedure -
{A) Question put by the court
(B) Oath
(C) Examination in chief
(D) Re-examination
(E) Cross examination
Choose the correct sequence from the options
given below —
(1) ABCED (2)
3) B,CEDA @

Which of the following section of Indian
Evidence Act defines an expert withess?

AECD,B
B,A,C,D,E

(1) Section 32 of IEA
(2) Section 45 of I[EA
(3) Section 60 of IEA
(4) section 118 of IEA

Which of the following change in body is
detected by the Lie detector?

(1) Metabolic change

(2) Physiological change

(3) Pharmacological change

(4) Physiological and pharmacological change
Who made the first Lie detector in 19217

(1) John Larson

(2) william M. Marston

(3) James Mackenzie

(4) Leonarde Keeler

in which of the following predetermined
sequence, the systematic questionnaire
procedure of relevant-irrelevant test has been
done in lie detector?

(A) An arousing irrelevant question

(B) A relevant question

(C) A non-arousing irrelevant question

(D) Response pattern analysis

Choose the correct sequence from the options
given below -

(1) B,ACD

(2 A,B,C,D

3) C,B,A D

4) B,A,D,C
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142.

143.

144.

Given below are two statements one is labelled
as assertion (A) and the other is labelled as
Reason {R}.
Assertion (A) — In lie detector analysis, if
reactions to the relevant
question are stronger than
reactions to control question, a
negative number is assigned.
Reason (R) — Negative score are thought to
indicate deception while more
positive scores indicate
truthfulness.
In light of the above statement choose the
correct answer from the option given below -
(1) Both A and R are true and R is the correct
explanation of A
(2) Both A and R are true but R is not the
correct explanation of A
(3) Aistrue butR is false
(4) Aisfalse butRistrue

In which of the polygraph test format, the
examinee js presented with multiple choice
guestions?
A. The relevant-irrelevant technique
B. The comparison question technique
C. The concealed information test
D. The guilty knowledge test
(1) AandC (@ AandD
3 BandcC 4 candD
Which of the statement is not correct in
relation to polygraph?
(1) The classification of guilty can be made

with 100 percent accuracy.
(2) The rate of false positive is sufficiently high.
(3) Results of such tests are inadmissible in
courts.

(4) The test is unsuitable for over reactive
personality.
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145,

146.

147.

When people lie, which of the following will not
occur?

(1) Heart beat becomes slower

(2) Breathing quickens

(3) Blood pressure rises

{4) skin moisture increases

Which of the following section of IPC deals with
the consent known to be given under fear or
misconception?

(1} Section 87 of IPC

(2) Section 88 of IPC

{3) Section 89 of IPC

{4) Section 90 of IPC

Given below are two statements one is labelled
as assertion (A) and the other is labelled as
Reason (R).

Assertion (A) — A liar or guilty person will feel
relief when the subjectina
conversation is changed
abruptly.

Reason (R) — An innocent person will be
confused by the change of subject
and will want to finish the test
topic before moving on the
another one.

In light of the above statement choose the

correct answer from the option given below -
(1) Both A and R are true and R is the correct
explanation of A

(2) Both A and R are true but R is not the
correct explanation of A

(3) Aistrue but Ris false

(4) Aisfalse butRis true
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148.

149.

150.

In a polygraph test, electrodes connected to
the fingertips and sphygmomanometer can
monitor the change in -

(1) Temperature and respiration

(2) vibration and blood pressure

(3) Perspiration and respiration

(4) Perspiration and blood pressure

Which of the following test is based on the
psychophysiological detection of deception?

(1)  Polygraph (2)
(3 Narco analysis (4}

Brain mapping
DNA profiling

Which of the following is correct to measure
the electrical conductance of the skin?

A. Galvanic Skin Response (GSR)

B. Electro Dermal Response (EDR)

C. Electro Chemical Response (ECR)

D. Skin Conductance Response {SCR)

Choose the correct answer from the options

given below —
(1) A/BandC (2) A CandD
(3 B,CandD 4 A BandD
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